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1. FEEAMBTEDEGE

(1) RIL FEFBEABRREDSE
M2 2HR)L D F SBEYEERE A, = 303 (mmd)

REATIER 0, = 1/3 % (236 / ¥3) * 303 = 13704(N) = 13.7(kN) (3¢ 1398kgf)
EEATIERE 0, = 1/2 % (236 / 43) * 303 = 20556 (N) = 20.6(kN) (3¢ 2102kgf)

(2) AVvH ) — b EXEBEICL DA VY — FEBEAMREDHE
A — FOMED I 2WEE LA = 794 2(mm)
REAGIER O, = 1/3 % 427.8 * 794.2 = 113253 (N
SEEATTERE Q,, = 2/3 * 427.8 % 794.2 = 226506 (N

Q = Min(Qu, Q) & YEFBE AT EILX. RYAFER 13.7N) . AR ER 20.6 kN) &3 %,

113. 3 (kN) (3¢11561kgf)
= 226. 5 (kN) (3¢23112kgf)
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